Algebraic Expressions- Questions
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Given that y = 27,

(a) express 4% in terms of .

o
(b) Hence, or otherwise, solve

8(49 =929 +1=0.
@
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1
(@) Write down the value of 32%

(b) Simplify fully (32x%)

O]

[©)]
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(@) Write Y80 in the form ¢35, where c is a positive constant.

o
A rectangle R has a length of (1 + 5) cm and an area of V80 cm?

(b) Calculate the width of R in cm. Express your answer in the form p + g\5, where p and g are
integers to be found.
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Simplify
7+V5
V5-1

giving your answer in the form a + b5, where a and b are integers.
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(@) Find the value of 87

(5) Simplify fully =X (2" )’

@
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2.

Express 82+ in the form 2, stating y in terms of x.

@
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(i) Express
G-V8)1+12)
in the form @ + b\2, where a and b are integers.
]
(i) Express
30
8o+

s
in the form cv/5, where ¢ is an integer.

(&)
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H
(a) Evaluate (32)°. giving your answer as an integer.

@

1
2552
1

(b) Simplify fully (

?
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3.

Show that

v

2
12-8

can be written in the form Va +\b, where a and b are integers.

)
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2.

(a) Simplify
V32+1418,

giving your answer in the form a\2 , where a is an integer.
@
(b) Simplify
324418
3+\2

giving your answer in the form 52 + c, where b and ¢ are integers.
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Find the value of

1
(@ 257

£l
®) 257

O]
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1
(@) Find the value of 16 *

N
(b) Simplify x[lx"]

@
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3. Simplify

‘giving your answer in the form p + g\3, where p and g are rational mumbers.

@
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Write ‘
Jas)-en

in the form kx, where k and x are integers.

@
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2.

(@) Expand and simplify (7 +V5)3 —¥5)

5) B>
(®) Bxpress

7+V5

+5

in the form a+ 55, where a and b are integers.

(€]
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8.

(@) Sketch the graph of y = 7% x € R, showing the coordinates of any points at which the graph
crosses the axes.

@
(b) Solve the equation
TE-4(P)+3=0,

giving your answers to 2 decimal places where appropriate.
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Find, using algebra, all real solutions to the equation

(i) 16a*=2+a
“@)

(i) b* + 762~ 18 =0
“@)
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2%, show that

can be written in the form

(b) Hence solve

251729 +8=0

22-17y+8=0

251729 +8=0

@

@
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Express 9%+ in the form 3, giving y in the form ax + b, where @ and b are constants.
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(@) Simplify

30418
giving your answer in the form a~/2 , where a is an integer.

(b) Hence, or otherwise, simplify

1243
Ko JiE

giving your answer in the form b/C , where b and ¢ are integers and b # 1.

@
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Simplify

@ @5
O]

V2

® 5

. giving your answer in the form a+ Vb, where a and b are integers.
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